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QUESTION 1

Which of the following Layout Objects might you use to create while space searching in a record? 

A. Placeholder 

B. Section 

C. Custom Object 

D. Tab Set 

Correct Answer: B 

 

QUESTION 2

On the Task-Driven Landing Page, what appears in a user\\'s Task pane? 

A. An interface that allows the user to create and assign new tasks for other users 

B. The top x-number of open Tasks, sorted by date. The administrator defines the maximum number of records that can
appear 

C. All Task Management records that have been recently edited, regardless of status 

D. Up to 25 open Task Management records appear at the top; Archived (Closed) Task Management records appear in
a collapsed section at the bottom. 

Correct Answer: B 

 

QUESTION 3

Which of the following steps would be the best approach for temporarily stopping a subscription notification from
sending email notifications? 

A. Delete the application associated with the subscription notification 

B. Delete the subscription notification 

C. Disable notifications for the application associated with the subscription notification 

D. Inactive the subscription notification 

Correct Answer: C 

 

QUESTION 4

Which of the following Audit Management components would be used to group areas of the business identified for an
annual audit? 
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A. Audit Assessments 

B. Audit Plans 

C. Audit Engagements 

D. Audit Entities 

Correct Answer: D 

 

QUESTION 5

In what way can Issues Management act as a foundation for other Archer solutions? 

A. Baseline issues provide a basic understanding of business and IT infrastructure 

B. Issues logged by a variety of groups provide a partial inventory of software applications, acting as a foundation for
other inventories 

C. Issues generated by several groups can be handled in Issues Management, including audit and risk and compliance 

D. Issues Management helps to decentralize risk at a high level 

Correct Answer: C 
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